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The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed (any ten) :
1x10=10
fRafeRerrT FotrRm Tes i (R e webt)

(a) ‘“‘An argument is merely a collection of
propositions.’’ Is it true?

“gb FE T T RFRER TR owR
BT TBTCA 2

(b) On what depends, the validity of an
argument?

IR 3y Ry oo 763 332
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(c)

(d)

(e)

1

(8

22A/1229

(2)

Give an example  of" class membership
proposition.

CIM ETOREE 51 @1 S |

“A valid argument can never have true
premlses and a false conclusion.”

(Write True or False)

BT (34 IS T W I WF 9 T

P @fems AR @’ 17
(5161 = TRy for)

What is the symbolic form of universal
negative proposition?

'mﬁaswa{?ammwﬁﬁﬁémmﬁ?

What is the name of the subject of the
conclusion of a syllogism?

TR BraEs SR JMOR TN R0

Which is the symbol that indicates the
form of a compound proposmon in
symbolic logic?

AN SHRWAS (IO 4OF @ 55

bR SR oS 9 ?

( Continued )

(3)

(h) Does a variable
meaning?

wmwﬁﬁmﬁﬁ'ﬁwwv»

contain a definite

(i) Find out the alternative proposmon from
the following :

oS AT <1 (T3 IoehT 1M v
(i) 1 eat rice or bread.
3% ©r 53T F6 W |
(i) Either he or I shall go.
CO¢ TP TR IW |
(iii) He is alive or dead.
oS Qe SR’ o |
() According to the rules of syllogism, if one

premise is negative, then conclusion will
be

(Fill up the blank)

T S I SR, @ 9B e o
TR W, (R PER 39

(R 5% °q )
(k) I_s truth table method a decision
procedure?
STeTe Ife 1S qb1 CTAIRT 1wl = 9
22A/1229
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(4)

() In obversion, there is a change in the

(m)

(n)

(o]

22A/1229

quality / quantity / both quality and
quantity between premise and conclusion.
(Find out the correct answer)

UfTSTe SRR WF PRt e @)
ﬂﬁz@/ﬂﬁmﬂﬁﬁz@/quﬁmcﬁ
Touq RS =g

(T Teqch AR Biore)

Mention one important relation between
symbolic logic and traditional logic.

SO SR AF RIS SERE

AES 37 9O Py T Ty 1 |

‘BOCARDO’ is a valid mood of the
figure.
(Fill up the blank)
‘BOCARDO’ R 91 (34 7S |

(ﬁﬁl‘i*’m )

Who is the father of Logic?
SHRER & @ 2

( Continued )

(5)

2. Answer briefly (any five) : 2x5=10
% Ses fomr (R qoeem Hiot) -

(a) Mention two characteristics of argument.

3R 751ty g |

(b) State two differences between proposition
and argument.

T SIF I e 27T 751 =M1 B |

(c) Are A,E, 1,0 propositions categorical or
conditional? Which term is distributed in
a negative proposition?
A, E, 1, O I9@R fARers o 0o 2 swedss
XS 3 o P 9

(d) Define one-predicate proposition with
example. ’

% RerR o7 e s foa |

(e) Name the authors of Principia
Mathematica.

Principia Mathematica 5%31 &14% FE?

() Define immediate inference with example.

- ORI S S e R o
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(6)

(g) ‘“He gave me a nice present in my

, birthday.”” Find out the ‘referent’ and
‘relatum’ of this proposition.

“o8 IR e b1 e o ke 1”7

G TR P oI TR’ AR e |

(h) What is the fallacy of undistributed
middle?

NG TP (T 16 QA ?

3. Answer the following questions (any four) : 5x4=20
iR e $e i (R e wifker) -

(a) Write a short note on (any one) : 5
55 Bt foran (R e )
(i) Truth and validity
ST IF (349

(i} Square of opposition of proposition

1 R smmw g

(b) What is symbol? State four utilities of using
symbols in logic. 1+4=5

2B B HRems oo
PUGPUMEMR IPYH B!

22A/1229 .
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(7)

(c) Transform the following sentences into their

logical form of propositions :

1x5=5

woe Tl AFIER SRS I ~iRaST

0
(i) Al tllat glitters are not gold.
SRFCEl SO T CTT T |
(i) Every man is liable to error.

2ifSEm TR T4 T |

(iij) Lions never eat grass.

B cefoms Wr AN |

(iv) Almost all people are present in the

meeting.

o1 Tl TFCER oo Boifde wfest |

(v) Only intelligent students can pass the

examination.

@wwm@ww«ﬁ

A |

(d) What is simple proposition? State different

types of simple proposition.

1+4=5

el 59 IIF QA 7 IR I Rfdw iR

¥ &, Sy T

22A/1229

{ Turn Over )



(%) (9)

(e) What is logical ‘constant? State differences

4. Answer the following questions (any four) :

between logical constant and logical ! 10x4=40
variable. , | 2+3=5 | PafiRe R Sed i (R ceen wifiker) -
|
S SRR IR @AE? o SRR |
S To TS 4T N By | (a) Define syllogism and explain its
: : characteristics. 2+8=10
(f) What is conversion? Make converse of ; AR A i o TR IR I 10
the following propositions : 243=5 '
TG IF QAT e SRR T | (b) What is figure of syllogism.?_ Explefin
SRS 3 : o different figures of syllogism  with
: examples. 2+8=10
(i) All men are mortal.
' ) TEE Ed o @ @ TR
TG TR < T | ffo TP T
(i) No men is perfect, . dm o
AT (c) Define a proposition, according to the
AR TR o modern logicians. Describe different kinds
(iii) Some men are honest. : of compound proposition with examples.
2+8=10
FRegamt gz = >y
TR R SRR WS, W KSR o1
() State the general rules of syllogism 5 B BRI Ove RiSA o (e o
’ 96T 391 |
FR T st Soay 7 |
. (d) What is obversion? Explain the rules of
(h) Explain four-fold scheme of Proposition. 5 % obversion. 2+8=10
RLE SO e oS DR — | ofTéT TE @A ? ARAEW FwPRE TRm
. 9| '

22A/1229 [
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(10 )

(e} What is symbolic logic? - Discuss the

(4]

(g)

(h)

characteristics of symbolic logic.

AT HREH B2 ST HRERR
CIPRPTZ e 311 1

Explain - differences between traditional
logic and symbolic logic.

&S YT AN

Explain the process of the application
of indirect truth table method with
examples.

Wﬂwmwwmmﬂ

P WA 3| | ,

Construct truth table for the following and
determine the truth value of each :

S AR sterer Wit o5
AT ToReT) el 7 - AL

(i) [(p>q)> p]ogq
(i) (p-q)v~(pvq)

22A/1229

4+6=10

10

10

5+5=10

( Continued )

(i)

22A/1229

(11)

Symbolize .the following with the help of
logical symbols as used in propositional
logic :

PR RGO W @R TP AN
RS weTe MAARR GORTe Sl i -

(i) ‘But’ is truth functional, while
‘because’ is not truth functional.
RY SO, SIS ‘Rwen’
SEFATE T |

(ii) It is false that Lovlina Borgohain is
not an Indian boxer.

G2 ST (@ TSR IR QRIS
RO IR T |

(iii) You will pass in the examination if
and only if you work hard.
oft e e PR At W AR o
I

(iv) 1t is untrue that students are not
intelligent.
G TS (¥ T IR A

(v) If it does not rain, then we shall go

for shopping.
i v R, @ it IR IRIA

I+ |

2x5=10
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(12 )

() Elaborate the differences between
deduction and induction. 10

o= o T TS 4 ALIIE ITE3
fora

* %k X
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